
1) Simplify 9:14

Answer: ____________

2) 80 x 11

Answer: ____________

3) Decrease 160 by 1/80

Answer: ____________

4) Convert the following fraction into a 
mixed number: 15/4

Answer: ____________

5) Increase 55 by 80%

Answer: ____________

6) 6   2/7 - 5   3/6

Answer: ____________

7) (-20) ÷ 2

Answer: ____________

8) 03:22 am To 06:14 am

Answer: ____________

9) (4 x 27) x (5 x 16)

Answer: ____________

10) Find perimeter of 
rectangle having 
sides a = 87 cm 
and b = 85 cm

Answer: ____________

11) 35 x 81

Answer: ____________

12) 30 ÷ 10

Answer: ____________

13) 1/9 + 18/12

Answer: ____________

14) Convert the following mixed number 
67/8 into an improper fraction.

Answer: ____________

15) Decrease 35 by 60%

Answer: ____________
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16) Decrease 65 by 2/13

Answer: ____________

17) 19 + 5 - 1 x 15

Answer: ____________

18) 29.6 x 23.5

Answer: ____________

19) Factorise 2x2 + 5x + 3

Answer: ____________

20) 11/11 x 15/1

Answer: ____________

Total: ___ / 20
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Answers:

1) 9 : 14 2) 880 3) 158 4) 33/4 5) 99 6) 11/14 7) -10

8) 02 Hours 52 Mins 9) 2560 10) 344cm 11) 2835 12) 3 13) 111/18 14) 55/8

15) 14 16) 55 17) 18) 695.6 19) (2x + 3)(x + 1) 20) 15
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